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B (D) 3.79 ha B (D) 3.79 ha
% 0.30 ha ¥ 0.30 ha
HE 0.20 ha HE 0.20 ha
KiE 04 ha KiE 04 ha
=—rvk 04 ha =—fFvr 04 ha
BEE V- 0.1 ha BIEE v - 0.1 ha
EREIRTES 0.1 ha | MEEEIETS 0.1 ha
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BT 040 ha BIOHR 040 ha
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K 020 ha KB 020 ha
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N1 Y3 710 ha INEDE 710 ha
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mE JEEBE 017 ha 57 017 ha
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K 050 ha KB 050 ha

D 1.20 ha =) 1.20 ha
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KB 080 ha KFE 080 ha
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K 081 ha K 081 ha
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KHE 025 ha IKFE 025 ha
37 0.05 ha 37 0.05 ha
KHE 0.30 ha IKFE 0.30 ha
HE 0.20 ha HE 0.20 ha
S 0.50 ha X 050 ha
IKFE 0.30 ha IKFE 0.30 ha
KFE 0.20 ha IKFE 0.20 ha
S 0.05 ha X 0.05 ha
IKFE 0.30 ha IKFE 0.30 ha
KFE 017 ha IKFE 017 ha
BRE 0.08 ha BRE 0.08 ha
KFE 0.30 ha IKFE 0.30 ha
FES 11 %8 FES 15 %8
KFE 0.20 ha IKFE 0.20 ha
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KFE 025 ha IKFE 025 ha
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EZEE 024 ha EE 024 ha
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